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Enrollment No: _______________________         Exam Seat No:_______________________ 

C. U. SHAH UNIVERSITY 

Winter Examination-2021 

 

Subject Name : Design of Concrete Structure 
 

Subject Code : 2TE05DCS1    Branch: Diploma (Civil) 
    

Semester: 5         Date: 15/12/2021  Time: 11:00 To 02:00   Marks: 70 
 

Instructions: 
(1) Use of Programmable calculator & any other electronic instrument is prohibited. 

(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: (14)  

 a)  Total compression force in concrete ______ 

કોંક્રિટમ ાં કુ઱ કમ્પ્રે઴ન ફોર્સ ______ 

a) 0.87fy        b) 0.36fy         c)0.87 fy Ast          d) 0.36fck b Xu   

1 

 b)  When a column is called a long column 

ક્ ાંરે કૉ઱મને ઱ ાંબી કૉ઱મ કહળે મ ાં આળે છે 

 (A) Le/D>12        (B) Le/D≤12          (C) Le>12              (D) Le<12 

1 

 c)  If the overall beam is 500mm, the effective cover is 50mm, get the beam 

effective. 

જો એકાંદર બીમ 500mm છે, અર્રક રક આળરણ 50mm છે, તો બીમ 
અર્રક રક મેલળો. 
 (A) 550 mm       (B) 450 mm         (C) 460 mm     (D) 100 mm 

1 

 d)  When a column is called a short column 

ક્યાંયે કૉરભન ેટૂાંકી કૉરભ કહલેયભયાં આલે છે 

 (A) Le/D>12          (B) Le/D≤12            (C) Le>12              (D) Le<12 

1 

 e)  What is full form of R.C.C.? 

a) Reinforced Cement Concrete         b) Reinforced Concrete Cement 

c) Reinforced Combined Cement      d) Reinforced Constituent Cement 

1 

 f)  Effective Depth > 3 x minimum side dimension 

અર્રક રક ઊંડ ઈ > 3 x ન્યનૂતમ બ જુ 

 (A) કો઱મ column (B) બીમ Beam (C) પેડેસ્ટ઱ pedestal (D) સ્઱ેબ slab 

1 

 g)  Partial safety factor of concrete _____ 

કોન્િીટ નો પ રર્ીય઱ રે્ફટી ફેક્ટર.............છે 
1 
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a) 1.15               b) 1.5            c) 2           d) 2.5 
 h)  Density of RCC 

 (A) 20 kN/m3  (B) 23 kN/m3    (C) 24 kN/m3      (D) 25 kN/m3 

1 

 i)  The diameter of longitudinal bars of a column should never be less than 

_________ 

કૉ઱મન  ઱ોન્ન્િટયકૂ્રડન઱ બ રનો વ્ય ર્ ક્ રેય _________ કરત  ઓછો ન 
હોળો જોઈએ 

a) 6 mm        b) 8 mm             c) 10 mm             d) 12 mm 

1 

 j)  Neutral axis where bending stress value_______   

તટસ્થ અક્ષ જય ાં બેનન્ડિંિ સ્રેર્ ળેલ્ય_ુ______ 

a) positive           b) negative              c) zero              d) none of these 

1 

 k)  What is minimum % of steel required for beam when grade of steel is Fe-

415? 

જય રે સ્ટી઱નો ગે્રડ Fe-415 હોય ત્ય રે બીમ મ ટે ઓછ મ ાં ઓછ  % સ્ટી઱ની 
આળશ્યકત  કેટ઱ી છે? 

a) 0.2           b) 0.4           c) 0.6            d) 0.8 

1 

 l)  In the method of limit state, what is the limit value of neutral axis flight for 

Fe-250 grade of steel? 

લ઱મમટ સ્ટેટની પદ્ધમતમ ાં, સ્ટી઱ન  Fe-250 ગે્રડ મ ટે ન્યરુ઱ એક્ક્ર્ર્ 
ફ્઱ ઈટનુાં મય સદ  મલૂ્ય શુાં છે? 

 (A) 0.46 d       (B) 0.48 d        (C) 0.50 d         (D) 0.53 d 

1 

 m)  How the lever arm is represented in a limit state design? 

લ઱ળર આમસ લ઱મમટ સ્ટેટ ક્રડઝ ઇનમ ાં કેળી રીતે રજૂ થ ય છે 

 (A) d - 0.42 Xu   (B) d - 0.48 Xu       (C) d - 0.46 Xu      (D) d - 0.56 Xu 

1 

 n)  For R.C.C. slab Maxi. dia. of reinforcement bar is______ 

R.C.C મ ટે સ્઱ેબમ ાં ર્લલય નો વ્ય ર્ મેક્ર્ીમમ   ______ છે 

a) 1/8 total thickness of slab        b) 1/4 total thickness of slab 

c) 1/8 total thickness of slab        d) 1/8 total thickness of slab 

 

1 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 
 A An RCC beam 230 mm * 400 mm is reinforced by 16 mm diameter bars. If 

it’s clear span is 3.6 m and support width is 300 mm, find the following 

with reference to IS:456-2000. 

1) Find side and end covers for reinforcement. 

2) Find effective span of the RCC beam. 

3) Find the minimum area of reinforcement. 

4) Find the maximum area of reinforcement. 

5) Find the minimum clear distance between the bars. 

Use M-20 concrete and Fe-415 steel. 

એક RCC ફીભ 230 mm * 400 mm 16 mm વ્મયસનય ફયય દ્વયયય પ્રફલરત છે. 

7 
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જ૊ તેન૊ ક્રીઅય ગય઱૊ 3.6 ભીટય છે અન ેસ઩૊ટટની ઩હ૊઱યઈ 300 ભીભી છે, 

IS:456-2000 નય સાંદબટભયાં નીચ ેઆ઩ેર ળ૊ધ૊. 
1) ભજબતૂીકયણ ભયટે ફયજુ અને અંતતભ કલય ળ૊ધ૊. 
2) RCC ફીભન૊ અસયકયયક ગય઱૊ ળ૊ધ૊. 
3) ભજબતૂીકયણન૊ રઘતુ્તભ તલસ્તયય ળ૊ધ૊. 
4) ભજબતૂીકયણન૊ ભહત્તભ તલસ્તયય ળ૊ધ૊. 
5) ફયય લચ્ચે રઘતુ્તભ સ્઩ષ્ટ અંતય ળ૊ધ૊. 
M-20 કોંક્રિટ અને Fe-415 સ્ટીરન૊ ઉ઩મ૊ગ કય૊. 

 B Explain the different types of beam section. 

ફીભ સેક્સનનય તલતલધ પ્રકયય૊ સભજાલ૊. 
7 

    

Q-3  Attempt all questions (14) 
 A State necessity of reinforcement in RCC structures. 

RCC ભય઱ખયભયાં ભજબતૂીકયણભયાં સલ઱મયની આલશ્મકતય જણયલ૊. 
7 

 B For a limiting section 200 mm * 300 mm effective, determine the 

following, if it is reinforced with an effective cover of 50 mm 

Take M-20 conc. Mix and Fy = 250 

1) Maximum compression stress in concrete and maximum tensile stress. 

2) Lever arm 

3) Total tension, total compression 

200 ભીભી * 300 ભીભી એપેક્ક્ટલ રીતભક્રટિંગ સેક્સન ભયટે, જ૊ તે 50 ભીભીનય 
અસયકયયક કલય સયથે પ્રફલરત હ૊મ ત૊ નીચેનય નક્કી કય૊ 
M-20 કોંક્રિટ તભક્સ અને Fy = 250 

1) કોંક્રિટભયાં ભહત્તભ સાંક૊ચન તયણ અને ભહત્તભ તયણ. 
2) લરલય આભટ 
3) કુર તયણ, કુર સાંક૊ચન 

7 

    

Q-4  Attempt all questions (14) 
 A Explain limit state of collapse and limit state of serviceability in flexure. 

રીભીટ સ્ટેટ ક૊રે઩સ અને રીભીટ સ્ટેટ સલીસેલફલરટી ફ્રેક્સયભયાં સભજાલ૊. 
7 

 B A reinforced concrete beam of rectangular section 230 mm * 500 mm deep 

is reinforced with tensile and compressive reinforcement 4 Nos. 20 mm dia 

and 2 Nos. 16 mm dia at effective cover of 50 mm on both side 

respectively. Using concrete M20 and Fe-250. Find moment of resistance 

of this beam. 

રાંફચ૊યસ સેક્સનનય 230 mm * 500 mm ઊંડ૊ પ્રફલરત કોંક્રિટ ફીભ ફાંને 
ફયજુએ અનિુભે 50 mm નય અસયકયયક કલય ઩ય તયણ અને સાંકુલચત 

7 
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ભજબતૂીકયણ 4 નાંગ 20 mm વ્મયસ અને 2 નાંગ 16 mm વ્મયસ સયથે પ્રફલરત 
છે. કોંક્રિટ M20 અને Fe-250 ન૊ ઉ઩મ૊ગ કયીને. આ ફીભનય પ્રતતકયય ળ૊ધ૊. 

Q-5  Attempt all questions (14) 
 A In one way continuous slab, width of supports are 230 mm and clear spans 

are 3 m. The effective depth of slab is 100 mm. Find effective end span 

and effective intermediate span.  

એક કન્ટીનમુસ સ્રેફભયાં, સ઩૊ટટની ઩હ૊઱યઈ 230 ભીભી અને સ્઩ષ્ટ સ્઩યન્સ 3 

ભીટય છે. સ્રેફની અસયકયયક ઊંડયઈ 100 ભીભી છે. અસયકયયક અંતતભ 
ગય઱૊ અને અસયકયયક ભધ્મલતી ગય઱૊ ળ૊ધ૊. 

7 

 B A simply supported slab has effective span of 3 m. The slab is reinforced 

with 10 mm dia-120 mm c/c alternate bent up. The thickness of slab is 150 

mm. Find external factored load that slab can carry. Use M 20, Fe 415.  

તસમ્઩ર યીતે સ઩૊ટેડ સ્રેફ 3 ભીટયન૊ અસયકયયક ગય઱૊ ધયયલ ેછે. સ્રેફન ે
10 mm dia-120 mm c/c લૈકલ્પ઩ક લ઱યાંક સયથે ભજબતૂ ફનયલલયભયાં આલે છે. 
સ્રેફની જાડયઈ 150 ભીભી છે. સ્રેફ લહન કયી ળકે તેલ૊ ફયહ્ય ઩ક્રયફ઱ ર૊ડ 
ળ૊ધ૊. M 20, Fe 415 ન૊ ઉ઩મ૊ગ કય૊. 

7 

Q-6  Attempt all questions (14) 
 A A one meter wide single flight RCC staircase is to be provided for a height 

of 2.70 m in a residential building. Staircase is supported at top and bottom 

risers by beams 300 mm wide. Waist slab is 150 mm thick. Riser 180 mm 

and tread is 300 mm Evaluate: 

1) The effective span 

2) Design load 

3) Reinforcement in waist slab 

Prepare a sketch. Use M-20 grade concrete and Fe-250 grade steel. 

યહણેયાંક ભકયનભયાં 2.70 ભીટયની ઉંચયઈ ભયટે એક ભીટય ઩હ૊઱ી તસિંગર 
ફ્રયઈટ RCC સીડી પયૂી ઩યડલયની છે. 300 ભીભી ઩હ૊઱ય ફીભ દ્વયયય સીડી 
ઉ઩ય અને નીચેનય યયઈઝય ઩ય આધયયભતૂ છે. લેસ્ટ સ્રેફ 150 ભીભી જાડય 
છે. યયઈઝય 180 ભીભી અન ેચયરવુાં 300 ભીભી છે મપૂમયાંકન કય૊: 
1) અસયકયયક ગય઱૊ 
2) ક્રડઝયઇન ર૊ડ 

3) લેસ્ટ સ્રેફભયાં ભજબતૂીકયણ 

એક સ્કેચ તૈમયય કય૊. M-20 ગ્રેડ કોંિીટ અને Fe-250 ગ્રેડ સ્ટીરન૊ ઉ઩મ૊ગ 
કય૊. 

7 

 B Design a circular column to carry an axial load of 1100 kN by using helical 

reinforcement. Use M-25 concrete and Fe-415 steel. Sketch the 

reinforcement details. 

7 
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હલેરકર ક્રયઇન્પ૊સટભેન્ટન૊ ઉ઩મ૊ગ કયીને 1100 kN ન૊ અક્ષીમ બયય લહન 
કયલય ભયટે ગ૊઱યકયય સ્તાંબ ક્રડઝયઇન કય૊. M-25 કોંક્રિટ અને Fe-415 સ્ટીરન૊ 
ઉ઩મ૊ગ કય૊. સલ઱મયની તલગત૊નુાં સ્કેચ કય૊. 

Q-7  Attempt all questions (14) 
 A Design a short square RCC column for an axial compressive factored load 

of 1500 kN. The grade of concrete is M-20 and steel Fe-415. Use 

minimum percentage of longi 

tudinal reinforcement. Also design lateral ties. Sketch the details. 

1500 kN નય અક્ષીમ સાંકુલચત ઩ક્રયફ઱લય઱ય ર૊ડ ભયટે ટૂાંકય ચ૊યસ RCC 

કૉરભ ક્રડઝયઇન કય૊. કોંક્રિટન૊ ગ્રેડ M-20 અને સ્ટીર Fe-415 છે. 
ર૊લ્ન્ગટયકૂ્રડનર સલ઱મયની ન્યનૂતભ ટકયલયયીન૊ ઉ઩મ૊ગ કય૊. રેટયર ટયઈ 
઩ણ ક્રડઝયઈન કય૊. તલગત૊ સ્કેચ કય૊. 

7 

 B Write a short note on two way slab. 

ટુ લે સ્રેફ ઩ય ટૂાંકી નોંધ રખ૊. 
7 

Q-8   (14) 
  Design a square footing for an isolated column 500 mm * 500 mm size 

carrying an axial load of 1600 kN. Safe bearing capacity of soil is 200 

kN/m
2
. Use M-20 concrete and steel Fe-415.  

1600 kN નય અક્ષીમ બયયને લહન કયતય 500 mm * 500 mm કદનય 
આઇસ૊રેટેડ કૉરભ ભયટે ચ૊યસ ફૂક્રટિંગ ક્રડઝયઇન કય૊. ભયટીની ફેક્રયિંગ ક્ષભતય 
200 kN/m2 છે. M-20 કોંક્રિટ અને સ્ટીર Fe-415 ન૊ ઉ઩મ૊ગ કય૊. 

 

    
 


